7o AEZEY A
R R AL R Rk () : )
Z [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
A 37,046,385 27,808,278 9,238,107
£e 37,046,385 27,808,278 9,238,107
T ET LS 34,536,171 26,340,928 8,195,243
QALY & 1,406,395 1,362,602 43,793
LS E A 5,000 4,908 92
AT A 5,000 4,908 92
1. A AagAS 5,000 4,908 92
7h St YA 2,786
1) A=A = 210-01 |6,0009 x50%-x 13]= 300
2) &Z=ut 210-01 60,0009 x 14 x 13]= 60
3) A (duh 210-06 100,000 2% x 18] = 200
4) 92 210-01 |14,0009 X 38| X 2A]7k= 84
5) 21H) 210-04 |8,00091 x50 x 38 = 1,200
6) AHF-E 210-01 |4,2009 X 10% x 13 = 12
7) {23 230-02 |15,000€ x 60 x 18] = 900
Ay At sk e s 2,214
1) A=A = 210-01 |4,0009 X 50%-x 13] = 200
2) AT (LD 210-06 |100,0009) x 273 x 18] = 200
3) = 210-01 [14,000€ x 31 X 24| 7t= 84
4) A1H) 210—04 |8,0009¢1 x40 x 28] = 640
5) 7+2H) 210-04 |3,0009 x40 x 28] = 240
6) AL 210-01 10,0009 X 10F *x 18] = 100
7) 3o 3 230-02 15,0009 %507 x 18] = 750
A3 F49 373 9,185 7,685 1,500
AGFFdaFAd 9,185 7,685 1,500
L AT T4 LS Ed 7,585 6,085 1,500
o e e S R i 3,845
D Arr (53) 350
b 75 210—06 |200,0009 x 17 x 13]= 200
W) %3 210-06 |150,00091 X 17 X 1A] k= 150
2) ZFHA1H] 210—04 |3,00090 1407 x 18] = 420
3) A&n) 210—15 20,0009 x 1407 x13]= 2,800
L - FOIREFERS - AAAALE - AT A BT - AP FAAFA




7188 AE4E WA
719 - AR e Rl w %49 (o] - 3 €)
wopng 23 | 24| 17 RERE %A% SENE 20199(A) | 20189 (B) | F7HA-B)
4) AHFEE 210-01 |20,0009 X 4% x 13] = 80
5) &2l 3] 230-02 |15,0009 x13% x13]= 195
L AT A a S 3,000
1) 7871 210-01 |250,00091 x 127 = 3,000
o A A A g 740
1) Ak (AR 590
7h 715 210-06 |160,000€ x 17 x 23] = 320
W) =3 210-06 |90,000¢) X 17 X 3A] 7k= 270
2) d1s 210-01 | 10,000€ X 31} x 5] 7k= 150
2. ARB AR neAS 1,600 1,600 0
7k A A .
1) 2571 210-01 |800,000¢1 x 27 x 13]= 1,600
A LAALEE 7,750 5,750 2,000
R 1,180 1,180 0
1. 233 EA 1,180 1,180 0
7} W E EA 1,180
1) A=A = 21001 |20,00091 x 3% x 23] = 120
2) FA 5o 210—06 |80,0009 x4™ x23]= 640
3) AFRES=E 210-01 |20,0009 X 6% x 13]= 120
4) ¥ 9] 3 230-02 |15,0009 X 107 x 23] = 300
R 6,570 4,570 2,000
1L AR S 9829 2,130 1,230 900
7h WA RjAAL] ¢ 3 2,130
1) Fg 210-06 |80,0004] % 3% x 78] = 1,680
2) & 9] 3 230-02 |15,00091 %107 x 33| = 450
2. A 95237} 1,220 1,070 150
7h w95 A vt 1,220
1) e A= 210-01 |20,00091 % 2% x 13] = 40
2) Al 210-06 |80,0009 X 5™ x 23] = 800
3) AHL-SE 210-01 |20,0009 x 43 > 13]= 80
4) ¥ 9] 3 230-02 |15,00091 % 107 x 23] = 300
3. L AAAIY 753 3,220 2,270 950
W = FoldE2FTuF - AAALLE — wAJA T - wAJAARRE




7@d AEDEYIA
R B R () : )
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
7h QAR A 3,220
1) A A2 210-01 |8,5009 X 50%-x 23] = 850
2) d4ut 210-01 |60,0009 %14 x23]= 120
3) AESTG 210-06 |40,0009 %6 x53]= 1,200
4) AFREE 210-01 |50,0009¥ X 3% x 28] = 300
5) WA= 210-01 |50,0009 X 3% x 28] = 300
6) 393 230-02 15,0009 %10 x33]= 450
A F-AAA T 740 740 0
A LA B2 740 740 0
L A FdAx#e A d 740 740 0
7} Ak A 8] 740
1) #FA5o 210—06 80,0009 X1 x48]= 320
2) §23] 230—02 |15,0009 X 7% x48]= 420
a2 ZQA 2,760 4,130 21,370
ZZ QAT 2,760 4,130 21,370
1. 25T FA LA H 530 530 0
7b. L FHA A1) € 5] 530
1) #FH5o 210—06 80,0009 x 27 x 28] = 320
2) o3 230-02 |15,0009 % 71 x 23] = 210
2. ASTEANA LA 2,230 3,600 21,370
7h A AR Rl 930
D) A (b 150
7hH 71 210-06 |100,000€ x 13 x13]= 100
W) 23 210-06 |50,0009¢1 x 178 x 1A 7k= 50
2) 2h] 310-01 |8,0009 X437 x 18] = 344
3) Agn 210-15 |8,000¢l x 437 x 18] = 344
4) FAEF 210-01 |9,200¢1 X 10% x 13]= 92
U FAEAA A 1,300
D) ZArr (L 150
71 7= 210-06 |100,00091 x 173 x 18] = 100
W) =3 210-06 |50,0009¢1 % 178 x 1A 7k= 50
2) A1) 310-01 |8,00091x80% x 18]= 640
AL - Fod 2T uS - ARG - TEADMA ALY - TEAQIA T




7188 A& 22 A
719 AR et S A A% (k9] - 4D
2 o 1=]
gopzg 22| B3| 2% Aol %A REXE 2019 (A) | 20188 (B) | F7HA-B)
3) AFH| 210—15 16,0009 X80 x13]= 480
4) AL E 210-01 |3,0009 % 10% x 13]= 30
TA Y EX] A7) A = 1,380,960 1,339,389 41,571
FAYER =) Y 1,380,960 1,339,389 41,571
1. AAE 353839 3,000 3,000 0
7t At d g EAd 240-01 |1,500,0009 x 28 = 3,000
2. AFEAZA AN X ¢ 1,377,960 1,312,389 65,571
7k WA AR A W] A € 1,377,960
1) 718+ 110-04 1,642,710 %378 x129= 729,364
2) A7 LI 110-04 [374,0509 %374 x 129 = 166,080
3) V=Y 110-04 [92,5009 x 24 x12€= 26,640
4) A ke B %2 110—-04 297,600 X 31 X 43%-7]= 3,572
5) W% R ZH] 110-04 [60,0009 x 374 x12¥= 26,640
6) 211 110-04 [130,0009 374 x 129 = 57,720
7) AR 110-04 1,554,470 x 374 = 57,516
8) WA F 7}y 110-04 |500,000¢ X379 x 23] = 37,000
9) A714o] = 110-04 [300,0009 X 371 x 28] = 22,200
10) 2382 x)n) 240-02 |400,0009 x 374 = 14,800
11) g% 320-12 |3,312,9609 X374 = 122,580
12) = AE 320-12 |1,316,3609 x37%= 48,706
13) A% R 320-12 |944,8509 x 374 = 34,960
14) »21%7] Qok1r 3 320-12 |69,7309 x 379 = 2,581
15) 1813 320-12 (438,790 x 374 = 16,236
16) AHAI R 320—12 |307,1509 X374 = 11,365
AF-ETEX Y 3,069,908 956,129 2,113,779
R e B B R =X 117,258 118,718 21,460
R B X 96,600 97,060 A460
L 25 0S5HYFdT 8,000 11,490 £3,490
7h aS A A 8,000
1) A2 A = 210-01 |10,0009 X 50% x 18] = 500
2) #Zut 210-01 60,0009 x 44 x 13]= 240
3) A (Lyh) 1,500
W - FOlUEFERS - W -SHBEAYN - BHBYANLEY - WYL




18 AlEdE UG A
ARty B = AR S A S R (9 -
[e) 1=}
gopzg 22| B3| 2% Aol %A% Az 20196 (A) | 2018 (B) | S7HA-B)
7h 7] 8 210-06 |100,00049 x 27 x 53] = 1,000
W) =3 210-06 50,0009 X 2% X 5A|3k= 500
4) Y8 210-01 |14,0009 x 37 X 10A]3k= 420
5) A4 210-04 |8,000¢ X307 x 48] = 960
6) 7F211) 210-04 |3,00041 x 30 x 48] = 360
7) A 210-07 |700,0004 X 1t} x 23] = 1,400
8) 3] 210—-15 |25,000€ X307 x 23] = 1,500
9) AHF-E 210-01 |2,000€ X 50% x 13] = 100
10) YALEZ 210-01 |12,00091 % 10% x 13]= 120
11) 893 230-02 |15,00091 X307 x 23] = 900
2. TTRHHF AT 5,600 2,570 3,030
7h S Ag 5,600
1) A=A = 210-01 |10,0004€ X 1003 x 13]= 1,000
2) &gt 210-01 60,0009 X 2% x 28] = 240
3) AT (LD 1,500
7h 7] 8 210-06 |100,0004 x 27 x 53] = 1,000
W) =3 210-06 50,0009 X 2% X 5A|3k= 500
4) 318 210—-01 |14,000¢ x 31 X 10A]7t= 420
5) TAT9] 210-01 |20,0009 x 447 x 138]= 880
) AFE Q) 210-01 |30,0009) X 10% x 23] = 600
7) AP 210-01 |46,000¢l X 5% x 23] = 460
8) YALE-Z 210-01 |50,0009] x 5% x 23] = 500
3. A HAR DAY 83,000 83,000 0
7} B ERR SR 9,000
1) 258w 620-03 |1,500,000¢ x 43 6,000
2) =8 620—03 |1,500,000¢ X 231 3,000
L. s ok 74,000
1) 258w 620-03 |2,000,000¢ x 22 = 44,000
2) 30,000
7H 3 620-03 12,500,000¢ x 8% = 20,000
) A 620-10 |2,500,000¢1 x 4% = 10,000
TR E AL R 11,118 11,118 0
WS - follEFENS - WF-SHBEAY - WGAHYALLY - WA RALRF




718E AlEZ s g A
AECEREEAE T EREE (9 4
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
MCESCEE L 11,118 11,118 0
7 ARS] A O S A R 9,850
1) a2 210—01 |7,0009¢ X 425% % 23] = 5,950
2) AEZ} 210-06 40,0009 x 10 x 83]= 3,200
3) AFE-23E 210-01 |10,0009 x 34 x 18] = 340
4) PAMEE 210-01 |12,0009 x5% x 13]= 60
5) &9 3 230-02 |15,0009 x 107 x 28] = 300
uh ARS] oA o S A 2814 1,268
1) A=A = 210-01 |5,0009 X 20%-x 13] = 100
2) #geut 210-01 |60,0009 x 32} x 18] = 180
3) At (Lnh) 600
71 7] 210-06 |100,0009 x 27 x 28] = 400
) =3 210-06 |50,0009 X 2% X 2A| 3= 200
4) 9ug 210-01 |14,000¢ X 31} x 4A] 7k= 168
5) APE-&E 210-01 |10,0009 x 10 x 18] = 100
6) WALEF 210-01 |12,0009 X 103 x 18] = 120
AN L&Y 8,000 8,000 0
1 3 24 L5 4 8.000 8,000 °
7h el mahd 34 9 8,000
1) 258w 240-01 |1,000,0009 x 48 = 4,000
2) =8k 240-01 |1,000,0009 x 29 = 2,000
3) 1=ew 240-01 |1,000,0009 x 2% = 2,000
SHELSHPY 1,540 2,540 £1,000
1. gAstzed= 4 1,540 2540 41000
b, FA s st A | E 9] ¢ 1,540
D) ZdAre (4R 600
71 782 210-06 |100,00091 x 17 x 43] = 400
) =3 210-06 |50,0009 X 1% X 4A]3k= 200
2) 7FAIn) 210-04 |3,0009 %301 x43]= 360
3) A= 210-01 |17,0009 x 10 x 28] = 340
4) 9] 3 230-02 |15,0009 x84 x 23] = 240
SR=RAP 67,682 67,682 0
W = FolllEFeus - aF-S5dEAd - SHAE




7188 AEdE5WAA
AR R E SR BT ERDE (2 - H4)
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
SNSRI 67,682 67,682 0
1. FEARA 67,682 67,682 0
. ANFEAS G 2,682
D) Ak (4R 1,830
7hH 7)1 210-06 |160,0009 x 3% x 18] = 480
W) %3 21006 90,0009 X 3 x 5] 7k= 1,350
2) d1xs 210—01 |14,0009 X 3v X 6A]3}= 252
3) Ay 310—-01 |8,0009 X407 x 18] = 320
4) 7+414) 310-01 |3,000¢1 x40 x 13]= 120
5) AH-E 210-01 |20,0009] X 8% x 18] = 160
ERESEEES 65,000
1) A& 210-01 |10,0009] X 5% x 18] = 50
2) 393 230—02 15,0009 %x10% x 18] = 150
3) =gHl 64,800
7 =skm 620-03 |10,800,000¢ X 63.= 64,800
TEA LG L F 5,674 5,674 0
TR ETA 4 5,674 5,674 0
1. A8 8933t 2,420 2,415 5
7h wS g A " st 2,420
1) AAE 210-06 |70,00091 x 307 = 2,100
2) A1) 210-04 |8,0009 x40 = 320
2. 9L HEA A3 3,254 3,259 A5
7k AEA Az 2,454
1) A A = 210-01 |5,0009 X 10%-x13]= 50
2) A (dHh) 210-06 |100,000¢1 x5 x 18] = 500
3) e 210-01 14,0009 x 31}l x 2] 7k= 84
4) Z3ukn) 210—04 50,0009 <9 x 2= 900
5) AHL-23% 210-01 |6,2509x20% x 13]= 125
6) AALEF 210-01 |12,0009 X 10% x 18] = 120
7) 393 230—02 |15,0009 x99 x 58] = 675
U AR nSEd 800
1) w571 210-01 100,000 x 8% x 18] = 800
PE - FOlHETERS - AF-SRTEAY - £YAALNDE - ALTUASBEA Y




AFAH S -5 e 20199 (A) | 20189 (B) | TH(A-B)

6,764 6,060 704
frotm &4 6,764 6,060 704
L FAQ RS} EAFARN LA 2,764 3,560 ATI6

7h A A AL 760

D) A (4R 250

71 7= 210-06 |160,000¢ % 1 x135]= 160

) z3} 210-06 |90,0009 X 17 X 1A]7k= 90

2) A 210-04 |8,0009 %30 x 13]= 240

3) 7+-41H) 210-04 13,0009 x30% X 13|= 90

4) W AH 210-01 |18,0009 X 10 x 18] = 180

LR R R Rt SR R 300

1) Aoy 210-06 |80,000¢ x 3 x 13] = 240

2) A RgE 210-01 |20,00091 % 3% x 13]= 60

o e g A A Y 1,000

1) #8524 240-01 1,000,000 x1¥= 1,000

ok fA et 704

1) ZAEe (4R 250

74 7)E 210-06 |160,00091 % 17 x 18] = 160

W) =3 210-06 |90,00091 X 1% X 1A]7k= 90

2) Z3AFA ] AN 210-06 |70,0009 x 193 x 18] = 70

3) dr=s 210-01 |14,0009) x 30} x 24 7k= 84

4) 7+211) 310-01 |3,000€1 %1007 x 18] = 300
FAAFA AL 4,000 2,500 1,500

7} A D e ng 2ol 1) 9 210-01 |200,0009 x 2091 = 4,000
EFgSAT 70,311 70,024 287
EXp8e 1,300 1,300 0
EFLSEYA43ed 1,300 1,300 0

[ERSEt 210-06 |80,000¢1 x 37 x 43] = 960

L ARTEE 210-01 |20,000€l X 5% x 13 = 100

ok 393 230-02 |15,0009) x 87 x 23] = 240
Exggusasxd 47,577 48,899 21,322
L ES RS YAE Y 47,577 48,899 1,322




7|88 &5 9A
)
At & LA & A= 20194 (A) | 20184 (B) (A-B)

7h A5 S DA -G 47,577
1) 22389 26,727
7} SR ST ;e 210—12 [30,000¢ x40 X 103]= 12,000
) #AE e A$9 210-12 10,0009 x50 X 128]= 6,000
) e 210-07 |600,000€ x 10 x 63] = 3,600
h) nYdFEEE 1Ay 210-15 |25,0009 X374 x 23] = 1,850
u}) &R E A2 210-15 |5,0009 x1207)= 600
H}) SYARE-E 210-01 |26,7709 % 10% x 103]= 2,677
2) 7189 2,500
7H AH-EF 210-01 |20,0009 X 10% % 103]= 2,000
W) w7 2 A S 210—09 |100,0009 X 5% = 500
3) S5 A A AE o] 9,900
7hH €3] oin) 220—01 (20,0009 x3% x 165U = 9,900
4) ZFAr (dhh) 4,340
7H 7)1 E 210-06 50,0009 x 447 = 2,200
W) 3 210—06 20,0009 x 447 = 880
o dixm 210-01 |14,0009) x 31 x 30| 7= 1,260
5) Mg 7o A3 1,000
7H AARA T 210—11 [100,0009 x10%F= 1,000
6) WAL ] 3,110
7} An] 310-01 8,000¢] x 283 = 2,264
) 7halH) 310-01 3,0009 x 283 = 846

ETISEXAY 21,434 19,825 1,609

1. X BAEY 21,434 19,825 1,609
7t 55 S A QA A 249 21,434
1) o1 AH] 110-03 |27,0009 X 18 x59A17kx 109 = 15,930
2) F211) 110-03 [48,0009 X1 x10¥= 480
3) WA& 7y 110-03 |1,000,0009 x 19 = 1,000
4) 4=3] o] 220-01 20,0009 x 1% X 1608] = 3,200
5) BEFHA1] 240-02 |400,000€1 x 1 = 400
6) AFA] R 3 320-13 16,930,000 X 1%= 170
7) 1EH T 320—13 |16,930,0009 X 1.5%= 254




)
A S E=A= 2= < 20199 (A) | 201841 (B) (A-B)

332,080 235,718 96,362

o) ul WAL B Z AL 177,600 87,750 89,850

1. Yo B Z A A 390 550 A160
7h AN AT 390
1) A (dRh 110
71 7|8 210—06 |70,0009 x 19 x 18] = 70
W) 3} 210-06 40,0009 X 19 X 1 A]7k= 40
2) 98 210-01 |10,000€ x 31 x 2A] 7k= 60
3) 218 210-04 |8,0009 %20 x 18] = 160
4) 7F21n] 210-04 |3,0009 X207 x 13]= 60

2. Yol 9l B Z WAL A 177,210 87,200 90,010
7}, R 127,800
D153 110-03 2,500,000 x 378 x 12¢= 90,000
2) 2+5H 110-03 2,300,000 x 18 x 129 = 27,600
3) A2y 110-03 [100,0009 x4 x 129 = 4,800
4) 3|2y 110-03 150,000 x 3 x 12¢= 5,400
U, Feo A g 110-03 [400,0009 x 4% x 129 = 19,200
o} 3w 8,000
1) A} A 2kx Ak 210-15 |2,000,0009¢ x 4% = 8,000
gt FATAMNA 210-15 |296,0009 X 1%= 296
v}, ¥ 22 320-05 |2,832,5009 x 4= 11,330
uh, A 10,584
1) =uled = 320-05 |118,000,000¢ X 4.5%= 5,310
2) AR 32005 |118,000,000¢ x 3.23%= 3,812
3) =047 QR 3 320-05 |3,812,0009 X 7.38%= 282
4) AHA 53 320-05 |118,000,0009 X 1%= 1,180

KX RS 154,480 147,968 6,512

BCEE EEENE T 154,480 147,968 6,512
7t TG A LY 10,380
1) A2 A = 210-01 |8,0009 X 40% x 18] = 320
2) & <=uk 210-01 |60,0009 x22] x 18] = 120
3) A E EAAE) 210-06 |30,0009 x 67 x 134]7k= 2,340

10




718 AEFEWSA
71389 Ae R ERtnSA 9 (k9] - d4d
2 o 1=]
gy 7 ?};3 fg NERE = RESE 20199 (A) | 2018W(B) | Z%(A-B)
4) 98 210—01 |10,0009 X 31 X 52| 7k= 1,560
5) 21H] 310-01 |8,000¢) X407 x 73] = 2,240
6) 7+21n) 310-01 13,0009 X407 x 43| = 480
7) A H] 210-01 | 20,000€ X407 x 23] = 1,600
8) AFE 9] 210—-01 |30,0009 xX5%x13]= 150
9) A&n) 210-12 |33,0009 x40 x 13]= 1,320
10) AFF-&= 210-01 |50,0009 xX5%x 13]= 250
L. Shg el 2] 2] ol - 69,600
1) sfelAwSn) 210-01 1 1,900,000€ x 307 x 13]= 57,000
2) Q1% WAF= ] oI H) 220-02 |3,000,000¢] x 3% x 13 = 9,000
3) A2 A2 210-01 |5,0009 %304 x13]= 150
4) A1) 310-01 18,0009 X307 x 23| = 480
5) ZFAH) 310-01 |3,000¢) X307 x 43| = 360
6) WEH] 310—01 |50,0009 X307 x 13]= 1,500
7) WAL E 210-01 21,0009 X307 X 13]= 630
8) 93 230—02 |15,0009 X 8™ x 43| = 480
o} ol Ed g ol 70,000
1) A8 210-01 |20,0009] X 7% x 23] = 280
2) ¥ 3 230-02 15,0009 x 8% X 13]= 120
3) X E 7AW H 620—03 |5,800,0009 X 123= 69,600
gh oA dZE 9D 4,500
1) 2zt g 210—07 |500,0009 X 1t} x 33] = 1,500
2) A= 210-07 |300,000¢ x 44 x 23] = 2,400
3) AREE= 210—01 |10,0009 X 10% X 63] = 600
R =R s ke D) 82,478 79,639 2,839
787534 J A s 46,683 43,844 2,839
1. 3N ALY 46,683 43,844 2,839
7}, Fpsha Akl 7 w) 45,883
D 71¥+ 110-04 [1,643,0009x1™ x129= 19,716
2) A7 ZF- 7 A+ 110-04 [435,0009 %19 x129= 5,220
3) 7SS 110-04 [120,0009x19x12¥9= 1,440
4) WEKRZN) 110-04 (60,0009 x1§ x12¥= 720
A - FolBlEF TS - AF-SFATAY - AR u YA - A uFAP ULt

11




AR s B Rt ety S) ks S R (k9] : x4
= [$) H
gopzg 22| B3| 2% Aol %A REXE 2019 (A) | 20188 (B) | F7HA-B)
5) 2214 110-04 [130,0009x 1 x12¢9= 1,560
6) Ax 110-04 [82,4109 %1% x 20 = 1,649
7) AFIETG 110-04 |15,4509 X 11 x 336A| 7+= 5,192
8) A7) o]+ 110—04 |300,0009 X 11 x 23] = 600
9) WAZE 7] 110—04 |500,0009 X194 x 23] = 1,000
10) 933 ]n) 240-02 |400,0009 x 1= 400
11) g§&8+& 320-12 14,500,0009 x 114 = 4,500
12) =uod= 320-12 37,093,1409 X4.5%= 1,670
13) 27138 320—12 |37,093,140¢ X 3.23%= 1,199
14) =2#7] o okR ¥ 320—12 |1,199,0009 X7.38%= 89
15) 71851% 320—12 [37,093,1409 x1.5%= 557
16) AR B & 320—-12 [37,093,1409 X 1%= 371
(BRI s PR ARCERE) 220-01 20,0009 X 1 X 408 = 800
AFSA BT E L 5A A 35,795 35,795
1. Fet AR 3 2,795 2,795
7). #3213 2,795
1) AAEE 1,080
7hH 7)1 & 210—06 40,0009 x99 x 28] = 720
) %3 210-06 20,0009l x 9™ x 23] = 360
2) 211] 210-04 18,0009 %20 X 13]= 160
3) WAL= 210-01 29,5009 X 20% X 23] = 1,180
4) 393 230-02 15,0009 x 25 X 13]= 375
2. 33 05FA 33,000 33,000
7t A A7 A st E 3,000
1) 7+24) 310-01 13,0009 %80 x53]= 1,200
2) WAL= 210-01 20,0009 X 15& X 53] = 1,500
3) 893 230-02 15,0009 %201 X 13]= 300
L A S s 30,000
D AeAdgdsAd 28,000
7h 2%stw 620—03 |1,400,0009 X 101= 14,000
) Fskw 620—03 |1,400,0009 x 103 = 14,000
2) VAT S s wdAT 2,000

“%X]'ﬂ 12




EEFIuSA A (5] )
o 1=]
o NERTE = SENL 20199 (A) | 20184 (B) | 274 (A-B)
70 2 (4R 500
(1) 71% 210—06 |160,0004¢l x 29 x 13]= 320
(2) =3} 210—06 [90,000¢ x 29 X 1A]7k= 180
) 214) 210-04 |8,0009 x40 x 18] = 320
oh) ZkaH] 210-04 |3,0009 x40 x 18]= 120
2h) 2EFl A e 210-07 |500,0009 X 1t] x 13]= 500
u}l) A& n) 210—-15 |14,0009 x40 x 18] = 560
ASTSY A 3} 1,949,601 110,858 1,838,743
i =R s e D) 45,018 40,858 4,160
1. A5 2S343e9 45,018 40,858 4,160
O Rk 43,550
1) Ak 210-06 |40,0009 x 27 x 325%F= 26,000
2) A xtw 210—-07 |10,0004€ x 1] X 3254k= 3,250
3) A= 210-01 |1,20091%1,300% x5%= 7,800
4) HALE 210-01 |5,000€1 % 1,300 x 13]= 6,500
U Al AR S 1,468
1) A2 A = 210—-01 |5,0009 X 40%-x 18] = 200
2) A (Y 300
7hH 71 & 210—-06 |100,0004¢l x 2 x 18] = 200
W x3} 210-06 |50,0004] X 21 X 1 A]7k= 100
3) Y= 210—-01 |14,0009 x 3 X 4A]7k= 168
4) YAEE 210—01 20,0009 X407 X 18] = 800
ASSAHAZERY 75,000 70,000 5,000
1. §4F5LD 75,000 70,000 5,000
7h A A S AA A D 20,000
1) =58 620—-03 |4,000,000¢ X 13.= 4,000
2) =8ku 16,000
7hH &4 620—03 |4,000,0009 x 431.= 16,000
L s e A el 55,000
1) 2538w 620—03 |500,000€ X 607 = 30,000
2) Z38kw 620—03 |500,000€ X507 = 25,000
St A S A AN 1,829,583 0 1,829,583

W& - BFE-FHEAY - AS S YA - FuASA LA DA 13




7|8 AEZ5 UG A
719 AP B R w S A9 (3] - H )
2 o) 1=
woipy B3| T3 | 0T Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
1. S A SA| A B 1,829,583 0 1,829,583
7h. vk A A S 1,829,583
1) A A 420-02 |1,737,760,0009 X 3.697%= 64,245
2) Al 420-03 |2,574,0009 X 650m'= 1,673,100
3) B E & FA] 420-03 164,660,0009 x 14] = 64,660
4) 7Z+en) 420-04 |1,737,760,0009 X 1.195%= 20,088
5) A] A o] 420-05 |1,737,760,0009 X0.54%= 7,490
5dgsA4 124,245 15,835 108,410
3l ensdgd 3 123,350 14,940 108,410
st E-3} el &3 108,410 0 108,410
7}, AR E ] (Fod ] x}ol ¢ T 45) 210-06 |3,300,0009 x 13= 3,300
L}, Al A A ) 420-02 100,000,000 x5.11%= 5,110
T}, A| A 420-03 |100,000,000€ x 1 31= 100,000
2. d58=2 9 10,640 2,000 8,640
7t EeteEAd ST 2,000
1) daAd e 210—-01 |20,00090 X 20% X 53] = 2,000
.S E A 2,290
1) AAp=or 210-06 40,0009 x 3% x 28] = 240
2) AU AS 210-07 |600,0009 x 1thx 13] = 600
3) WAFLE 210-01 |20,0009 x 25% x 23] = 1,000
4) 893 230-02 |15,0009 x 157 x 23] = 450
= R e e e A R | 6,350
1) TREAZ 210-01 |100,00091 X 10F % 13]= 1,000
2) 713 Z A = 210-01 |150,0009 X 20% x 13]= 3,000
3) AAE 240
7H 71 210-06 |40,000¢ x4 x 18] = 160
) =3} 210-06 20,0009 x4 x18]= 80
4) 2] 31001 |8,0009 x 30 x 13]= 240
5) 7F21n) 310-01 |3,0009 x 190 x 18] = 570
6) A= 210-07 |1,000,0009 x 14 X 13| = 1,000
7) 893 230-02 |15,0009 x 207 x 18] = 300
3. oo 7|3 3ALER 4,300 4,300 0
LE - FOlREFERS - BF-SHBEAD - SHBEAA - Bolel &L {3
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71y - ARk w A 9 (=] : 2
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)

7}, oA ol I3y A} 210—01 |100,000€ X 23% x13]= 2,300

L. S o AL 2,000

1) A= xts 210-07 |500,00091 x 2] X 13]= 1,000

2) A= 210-01 |50,00091 X 20F x 13]= 1,000
g degFus AL gAY 895 895 0
L 023 L2ENMY B8R 423 895 895 0

7b ol Ao Eat| ) 8 895

1) &<k 210-01 60,0009 X 14] x 18] = 60

2) AR 300

71 78 210-06 |40,0009 x5 x 18] = 200

b F3t 210-06 20,0009 x5 x 18] = 100

3) 7F2AIn) 310-01 13,0009 x 257 X 13]= 75

4) AETQ] 210-01 20,0009 x17% X 13]= 340

5) 9] 3 230-02 |15,0009 x84 x 18] = 120
SPRAGA & 8,425 8,235 190
RN RV ES SRS 6,232 6,042 190
Rl Bl e S o 4,000 0 4,000

7h SRR 9 3] 4,000

1) ZEBHSY 620-03 |2,740,000¢ X 11= 2,740

2) St FHHAEFY 620-03 |1,260,000¢ X 11= 1,260
2. SPAA BT 2,232 6,042 23,810

7k SR A S 2,232

1) 2H] 210-04 |8,000¢ x 887 x 18] = 704

2) 7+21n] 210-04 |3,00091 <88 x 13]= 264

3) AUt 210-07 |500,00049 x 2] x 13]= 1,000

4) AFn] 210—15 |3,00091 x 88 x 18]= 264
ST AR F S| 2,193 2,193 0
1. St Z o ub ukx] 9 2,193 2,193 0

7b Sta g ol 993

D) Ak (4R 300

b 75 210—06 |100,000¢ X 17 x 23] = 200

W) x3 210-06 50,0009 X 19 X 24 7F= 100

BE - fOIURFERE - A -HEBEAD - FANBA L — S E oA 9l 15




7188 A& 22 A
AR s B Rt ety S) ks S R (k9] - A 9)
2 o 1=]
gopzg 22| B3| 2% Agvle %5 ek 20199(A) | 20184(B) | Z7HA-B)
2) 9= 210-01 |14,0009 X 31} x 4A] 7= 168
3) AMEEF 210-01 20,0009 X 15 X 13]= 300
4) ¥ 9] 3 230-02 |15,00091 x 15 x 13]= 225
15 I R R R e S 1,200
D stuFgudsie o 210-02 25,0009 x12¢= 300
2) BAHEH 210-01 |20,0009 X 15% x 23] = 600
3) 9] 3 230-02 |15,00091 X 107 x 23] = 300
R PSSR RS | 183,720 186,316 272,596
S AP S E 2] 9] 183,720 186,316 22,596
1. § (Wee) Z2HEL-Y 183,720 186,316 A2,596
7}, 178 119,409
1) A7t 89,406
7H 7= 110-04 [1,977,91090 x3W x 129 = 71,205
W) dxpg 110-04 [65,1009x3% x 16 = 3,125
) AFTRSY 110-04 [12,2109 x 3% x 1204 7= 4,396
) F21) 110-04 [130,00091 %38 x12¢= 4,680
EIS IR DARAR =2 110-04 [300,000¢ x 31 x 28] = 1,800
v} WA & 7] 110-04 |500,0009 X 39 x 23] = 3,000
Ap) ] 22 n) 240-02 |400,0009 x 3 = 1,200
2) A3 EA AL 30,003
70 7135 110-04 |1,834,14090x 1% x128= 22,010
) Axpgg 110-04 [63,8009 x 18 x 154 = 957
o) A= 110-04 [11,9709 x 1 x 1204 7= 1,436
) F2n) 110-04 [130,0009 x 1% x129= 1,560
nh) 7)Ao = 110-04 |300,000¢ % 178 x 23] = 600
vh) A F 7] 110-04 |500,0009 X 1§ x 23] = 1,000
AP A7) 2E I AR 110-04 (90,0009 x 18 x129= 1,080
oh) VIS 110-04 (20,0009 x14 x12¢= 240
) WE K ZH) 110-04 60,0009 x 18 x129= 720
2}) "k E ) 240-02 |400,0009 x 17 = 400
L A 12,261
1) ZwAE 320-12 [119,408,2409 x4.5%= 5,373
N - fFoldR2FSuS - AF-SFLsAd - FWNGE A - GG LA 16




71eE AEZE A
)
A S E=A= 2= < 20199 (A) | 201841 (B) (A-B)

2) A7k R 3 320—12 [119,408,240¢ x 3.23%= 3,857
3) =e1&7] Qokr 3 32012 |3,856,8869 X 7.38%= 285
4) 1813 320—12 |119,408,2409 X 1.5%= 1,791
5) AHA] B3 320-12 |119,408,240€ X 0.8%= 955
ot B A= 13,070
1) AREAFAL 320-12 |3,566,780¢9 x 3% = 10,700
2) A}3]E A A 320-12 2,369,770 x1%= 2,370
g}, AEATol 8 4= o n 220-01 |20,0009 X 4% X 1203] = 9,600
vl >34 28,580
1) Y EFLE 210-01 |200,000¢ x13]= 200
2) T3 LTLAA 210-02 |250,0009 x 129 = 3,000
3) gAML on] 210-12 |1,000,0009 x103] = 10,000
4) A 7 A 210-12 |500,00091 x 13]= 500
5) A x 29 An 210-12 |600,0009 x 10 = 6,000
6) TR EFAZ 210-15 [500,0009) X 63]= 3,000
7) =3 n] A 210—15 |270,000¢ x 43]= 1,080
8) o14=n] 210—15 |400,000¢ x 67 = 2,400
9) $9gF 210-01 |200,0009x12¢9= 2,400
v}, ZAEE S 800
1) Y& 430-01 |800,000¢ x 1tj= 800

120,000 50,000 70,000

s 120,000 50,000 70,000

REAZEZ ALY 120,000 50,000 70,000
7} =538k 620—03 2,500,000 x 8i= 20,000
U, Z8w 30,000
1) 29 620—03 2,500,000 x 8= 20,000
2) A 620—10 |2,500,0009 x 431 = 10,000
o A2 A AT A AAE Y 70,000
1) Aguk 210-01 60,0009 %12 x1138]= 660
2) Aok 210-06 |160,000¢ X 17 X 103]= 1,600
3) A n) 7 n) 210—06 40,0009 %19 x108]= 400
4) 9% 210-01 14,0009 x 3ull X 2041 7k= 840
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7|88 &5 9A
7187 - AR R Qw2 A (9] - 4
o) 1=
gopzg 22| B3| 2% Aol %A% Az 20196 (A) | 2018 (B) | S7HA-B)

5) Zuhn) 210-04 40,0009 x40 x 1= 1,600

6) 2] 210-04 |8,0009 x40 x 103]= 3,200

7) 7HAn) 210-04 |3,0009 x40 x 153 = 1,800

8) ekl xte 210-07 |700,0009 x 1t} x 323] = 22,400

9) A AolxtE 210-07 |500,0009 x 241 x 23] = 2,000

10) A3 n) 210-15 |25,0009 x40 x 303] = 30,000

11) =479 210-01 |15,00091 X 2007 x 13] = 3,000

12) PAHE= 210-01 |50,00091 X 5% x 103]= 2,500
A X k) g 1,670 1,370 300
AR PP 1,670 1,370 300
1. F3ErA a4l 1,670 1,370 300

7t St u A g xl s 1,670

1) Aok 210-06 |80,000¢1 x 2% x 13 = 160

2) AAA g =S E 210-01 |3,2509 x 4007 x 13]= 1,300

3) & 9] 3 230-02 |15,00091 X 7% x 23] = 210
ASEX R Y 3,381,977 3,761,213 £379,236
WE= g9 204,000 204,000 0
P X N 204,000 204,000 0
1. a3t g B3 3HA o 160,000 160,000 0

7h. %8 w - v 140,000

1) %8k (e 210-13 |5,500,000¢ x 631 = 33,000

2) =8y 620-03 |3,500,0009 x 16= 56,000

3) Z=38km 51,000

7hH &9 620—03 |3,000,000¢ X 931 27,000

) A+ 620—10 |6,000,0009 x 411 = 24,000

L T BV A B 20,000

1) 258km (9Eh 210-13 |2,500,0009 x 411= 10,000

2) =8y 620—-03 |2,500,0009 X 23 5,000

3) T 5,000

7H AFY 620-10 |2,500,0009 x 21 = 5,000
2. EXRTZ WY 44,000 44,000 0

7} 250 620—03 [2,000,0009 X 223.= 44,000
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WSA A (k] - xd9)
o AERE %A% RENE 20199(A) | 20184(B) | F7HA-B)

2,808,977 2,972,302 A168,325
gty|E=F A0 29 2,803,977 2,972,302 A168,325
1. 39278534 2,643,716 2,753,475 £209,759

7} 829 620—03 |128,554,0009= 128,554

v =58 620—03 |884,139,000¢= 884,139

o}, =8k 654,553

1) 29 620-03 191,825,0009= 191,825

2) A 620—10 |462,728,0009= 462,728

g2t 258w 876,470

1) 29 620—03 |545,285,0009= 545,285

2) A 620-10 331,185,0009= 331,185
2. 38 AEAEXY 260,261 218,827 41,434

7F 829 620-03 13,583,0009= 13,583

v 258w 620—03 |94,549,000¢ = 94,549

o}, =8t 65,258

1) &9 620—03 |19,711,000¢= 19,711

2) AH 620-10 | 45,547,0009= 45,547

2. 158w 86,871

1) 29 620-03 54,054,0009= 54,054

2) A+ 620-10 32,817,0009= 32,817
oS ANA 250,000 200,000 50,000
Fo|EANSEAYIX A 250,000 200,000 50,000
1. 3o]En52 4 250,000 200,000 50,000

7wl R TGS T 250,000

D ks uS3yd 949 70,000

7H 2S5 AL GA A 620-03 |700,0009 x 10083 = 70,000

2) ndFAsAT 10,000

7h) ZdAkE (W) 3,000

(1) 71& 210-06 100,0009 x10% x 23] = 2,000

(2) %2 210—06 |50,0009 X 107 x 2A]7k= 1,000

) Al 210-04 18,0009 %30 x53]= 1,200

o) 2 aE 210-07 600,000 x 2tf x 18] = 1,200

— polEst A fol AN — FolEetu S B SHA K 19




71908 A E A2 9
7138 e Rk S #] 9 (8] - A4
2 o) 1=
gopzg 22| B3| 2% Aol %A% Az 20196 (A) | 2018 (B) | S7HA-B)
a}) AL E 210-01 |46,0009 X 10% % 103] = 4,600
3) gA-Fotg 163,000
7h) A (2 u) 210-06 |50,00091 X 257 x 24.3] = 30,000
) A (AR 20,000
(1) 7)1 % 210-06 |100,0009 x 109 x 153] = 15,000
(2) =3} 210-06 |50,000€1 X 10 x 104 7F= 5,000
t}) SHAmpS =A%) ¢ 210-12 |490,0009 X 20% x 13] = 9,800
2} Ah) 310-01 |8,0009 X 100 x 123] = 9,600
o}) SWAFLE 210-12 |336,0009 X508 x 23] = 33,600
vh) Fals ghagole A2 60,000
(1) =¥ 620-03 |2,000,0009 x 158 = 30,000
(2) A 620—10 |2,000,0009 x 158 = 30,000
4) vFEEEAY 7,000
7}) WAL= 210-01 |61,0009 X 10% % 103] = 6,100
}) & o) 3 230-02 |15,00091 X 104 x 63| = 900
ASER] SR Y 124,000 119,018 4,982
TEEA =Y 124,000 119,018 4,982
1. 28 EX SN =Y 124,000 119,018 4,982
7h WEEA A w A Y 121,000
1) Ard st 116,200
7h) Forx 620-03 42,200,000 = 42,200
}) Holol= 620-10 |74,000,0009= 74,000
2) FolEAATN (X F) 4,800
7} HelEx 620-03 |4,800,0009= 4,800
L WS A X A AR 3,000
D) WSEAAY Y 760
7 A=A = 210-01 |10,000€1 X 20%- % 13]= 200
BEEEADSESA 210-06 80,0009 x 27 X 13|= 160
th) A} E 210-01 |20,0009 xX5% X 13]= 100
2} f{j:—ﬂﬂ 230-02 |15,00091 X 10 x 23] = 300
2) WHHAJAAATY 2,240
71 70‘/\}—’?%‘(%%) 1,000

WEFERE - TREAAD - LERASAAD - LFEA S

o

A4
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B AEZ B A
719 A ol n S 9% (9] - <)
o 1=]
wopng 23 | 24| 17 RERE %A% SENE 20199(A) | 20189 (B) | F7HA-B)
(1) 71& 210-06 |160,000¢ x 17 x 43]= 640
(2) 23} 210-06 90,0009 X 19 x 4] 7k= 360
W) s 210-01 |10,000¢ x 31 x 8] 7k= 240
t}) AH] 310-01 |8,000€ x 20 x 48] = 640
eh) 2k2H] 310-01 |3,0009 x 207 x 48] = 240
n}) }WALLE 210-01 |20,0009 x 3% x 28] = 120
BA/FA/ASEEF 1,878,518 480,912 1,397,606
BAAF 6,571 6,511 60
Sy HABe 1,756 1,476 280
1. EARS S-S 1,756 1,476 280
7F RADAASF 1,656
1) AaA = 210-01 |10,0009 x 2% x43]= 80
2) 7 (Y 1,000
b 75 210—06 |160,0009 X 17 x 43] = 640
W) 23} 210-06 90,0009 X 19 X 4A] 7k= 360
3) g 210-01 | 14,0009 x 31 x 8] 7k= 336
4) Z+21m] 210-04 |3,0009 x 209 x 48] = 240
L, g ekE L) 210-01 |10,0009¥ X 10 x 13]= 100
8 7.8+7 2 A e 4,815 5,035 £220
1. tug==ug 380 420 A40
7t FET A AR 380
1) AxXESE 210-01 |10,0009 x 3071 x 18] = 300
2) ARG 210-01 |10,0009l x 4% x 23] = 80
2. FUTFHNSIAFHST 4,435 4,615 A180
7 WS B 9 3] 4,435
1) ZA2=c} 210-06 |80,0009 x 117 x 43]= 3,520
2) 2H] 310-01 |8,0009 X157 x 28] = 240
3) 93 230-02 |15,00090x 157 x 33]= 675
ERIEE 1,853,992 456,446 1,397,546
332 7a 3,128 3,343 A215
1. 2ATSHALY 3,128 3,343 215
7F. Sl A P A AR A 1,008
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7187 s A Rk S A 9 (9] - <)
Z [e) 1=}
gopzg 22| B3| 2% Aol %A REXE 2019 (A) | 20188 (B) | F7HA-B)

1) AF2 A = 210-01 10,0009 ¥ 2 x 23] = 40

2) Ak (LD 500

71 7= 210-06 |160,0009 % 17 x 28] = 320

W 3 21006 90,0009 X 17 x 24| 7k= 180

3) 9w 210-01 |14,0009 x 31 x 4] 7k= 168

4) 7F21n] 21004 |3,0009 x50 x 23] = 300

L RS T B S R 2,120

1) v BEAALE 210-01 |120,0009 x 1 x18]= 120

2) AAGTF(431) 310-01 |50,0009¥ %209 x 28] = 2,000
Sy 489 29,359 32,028 £A2,669
1. 420k} 9 A ) 29,359 32,028 22,669

7b. FA A9 620-03 |2,669,0009 % 11th= 29,359
SuFHERMNA 1,821,505 421,075 1,400,430
1. $aFA 7| FLUA L GF 1,821,505 421,075 1,400,430

7h =3 A7) A 278,889

1) 539 620-04 |94,493,0009= 94,493

2) 2538w 620—-04 |114,291,0009= 114,291

3) T 3,210

7H 39 620-04 |3,210,0009= 3,210

4) 11538 66,895

7H ¥4 620-04 [42,919,0009= 42,919

W) A 620—-11 |23,976,0004= 23,976

L= E R AR ke 1,542,616

D Wz d8sH 427,629

71 A A ) 420-02 |381,222,6009 X 4.1%= 15,630

) A]Adn) 381,222

(1) xgA 42003 |2,562,00091 X 49.5m'= 126,819

(2) A3 420-03 |1,793,0009) X 49.5m'= 88,754

(3) kA 420-03 |1,930,00091 X 13.2m'= 25,582

(4) s34 420-03 |2,769,0009 X 9.9m'= 27,413

(5) JFALA ZE]FALA A 420-03 |3,025,00091 X 33m'= 99,824

6) F1 420-03 |972,00091 X 13.2m'= 12,830
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Abd ] < A5 AEUS 2019€(A) | 2018€(B)
o) 7] 420—-04 |381,222,6009 x4.66%= 17,769
2} A] A Fojn) 420-05 |381,222,6009 xX0.72%= 2,745
ul) 7] 9to] A ] 620-03 |5,000,000¢1= 5,000
v o) J) FA ) 620-03 |5,263,0009= 5,263
2) WAL AP 389,504
7 A A 8] 420-02 [367,800,0009 X 3,049%= 11,159
) A]AdH| 367,800
(1) =g 420-03 |2,562,0009 X 110m' X 85%= 239,547
2) A4 420-03 |1,793,0004) X 60m' X 85% = 91,443
(3) AAn 420-03 |12,270,0009 X 34 X 100%= 36,810
) 7)) 420-04 |367,800,00091 X0.761%= 2,799
2} A] A Foin) 420-05 |367,800,0009 X0.72%= 2,648
u}) 7] -] AH) 620—-03 |3,000,00041= 3,000
Hh) o F 228 620—-03 |2,098,000¢= 2,098
3) AeFFAAEAFTH 683,082
71 A A ) 420-02 |641,560,0009 X 4.404%= 28,254
) Al AdH) 641,560
(1) =g 420-03 |2,562,000¢1 X 150m'= 384,300
(2) A 420-03 |1,793,000€ X 60m'= 107,580
(3) d4aEw 420-03 |1,660,000¢) X 15m= 23,850
(4) 2QHEEFA} 420-03 |50,000,0009 = 50,000
(5) AGF5A 420-03 |75,830,000491= 75,830
th) 7+aju) 420-04 |641,560,0009 X1.373%= 8,809
2} A|A B jn) 420-05 |641,560,000¢1 X0.695%= 4,459
4) FtsxeduA At e 42,401
7H A F A 620-03 |42,401,000¢91= 42,401
17,955
A< thsA 4 17,955
IR ENE e 3,600
7b. AFad A% 8 3,600
1) 7178 310-01 |300,0009 x 6% = 1,800
2) A5nF 310-01 |100,000¢1x18%= 1,800

- AFASUNHBE - AT Q
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)
Abd ] < A5 AEUS 2019€(A) | 2018€(B) (A-B)
2. 71eA1 & 3 14,355 14,355 0
7h A5 o) 3 3,000
1) 5733 3,000
7hH A 210—06 40,0009 X 15% X 13]= 600
) 214 310—01 |8,000¢] x40% x 28] = 640
oh) 7E2H] 310-01 |3,0009 x40 x 23] = 240
2} A= 210-01 40,0009 X 23% < 18] = 920
ul) 3 9] 3 230—-02 |15,00091 %407 x 13]= 600
. w7 o g 5,000
D 534 3] 5,000
7} <:ukn) 310-01 40,0009 %104 %29 = 800
) 21H) 310—01 |8,000¢1x100% x 28] = 1,600
oh) 7-21H] 310-01 3,000 X 100% x 28] = 600
2h) 2l A e 210—07 |400,0009 x 3t x 18] = 1,200
u}h) ALLE 210-01 40,0009 X 20%F % 18] = 800
oh. wA A AL 3 1,200
1) A L= 210-01 |30,00091 X 20% x 18] = 600
2) 393 230—02 15,0009 x40% X 18] = 600
ERRTAS v el T i e e 5,155
D Aasgd 600
7hH 71 & 210-06 40,0009 x10% X 13]= 400
) 3 210-06 20,0009 X107 X 13]= 200
2) 2n] 210—04 18,0009 x 280" X 13]= 2,240
3) A= 210—07 595,000 x 14 x 18] = 595
4) AFEn) 210-01 |100,0009 X109 x 13]= 1,000
5) L= 210-01 40,0009 X 18% < 138]= 720
st A A A DB 14,293,398 13,319,165 974,233
6,733,048 6,293,041 440,007
7L-gn)A Y 6,733,048 6,293,041 440,007
1. Stw 7| B89 6,635,408 6,293,041 342,367
7F 2 620—02 |892,512,000¢= 892,512
U x58ky 620—02 |4,291,706,0009= 4,291,706
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713y AgE e Rt S Y (el - dd
74 o) 1=
woipy B3| T3 | 0T NENE = RESE 20199 (A) | 2018W(B) | Z%(A-B)
=35k 620—02 |1,451,190,0009= 1,451,190
2. st 7| ele-9n x4 97,640 0 97,640
7}, wgEs oA AN 97,640
1) 253w (31w) 620—04 |86,640,00094= 86,640
2) = (1) 620—04 |11,000,0009= 11,000
A A A D 7,560,350 7,026,124 534,226
A AH| A A A TR Y 6,445,505 5,925,587 519,918
1. 9A¥ AR AT 2 6,445,505 5,925,587 519,918
7F a1 7An A Y 620—08 |6,445,505,0009= 6,445,505
TG AF AT A 1,114,845 1,100,537 14,308
YA R F 1,114,845 1,100,537 14,308
7}, st 7] -84 1] 620—09 |1,114,845,0009= 1,114,845
gt WSy AN A 10,505,975 6,460,907 4,045,068
s A WA A 1,855,691 0 1,855,691
S AAZNE 1,855,691 0 1,855,691
1. 3 4FH 1,060,078 0 1,060,078
7h F_bg A A dA S 538,894
1) AAM| 420-02 |506,480,000¢ X 4.5834 %= 23,215
2) XA H| 506,480
7hH nAEE 420-03 |132,710,0009 x 24 = 265,420
W) A== 420—-03 |127,140,0009 x 14 = 127,140
oh) vk 420-03 [14,000,000¢ x 24 = 28,000
2h) "= 420-03 [292,0009 X 60m= 17,520
ul) Z3F 420—03 [93,000¢ X 200m'= 18,600
vh) A48 420-03 |1,660,000¢ X 30m= 49,800
3) 7+gn) 420—04 |506,480,0009) X1.427%= 7,228
4) Al En] 420-05 |506,480,0009 x0.719%= 1,971
U PP GX 081 (F3) 5F 521,184
1) AAM 420-02 |482,880,0009 X5.773%= 27,878
2) Al AH| 482,880
7hH tEA A (F3A) == 420—03 |132,710,0009 X 1.54= 199,065
W) A== 420-03 127,140,000 x 1= 127,140
A - FoldEFF0E — FanFodANAAE - SFudWAAE - SAALTASH 25




7138 e Rk S #] 9 GCEEEE
= % 2 w2 = =
Hopnm el o PSR E_A= Ed e 20199 (A) | 201849 (B) | S#(A-B)
o A== 420-03 [132,710,0009 x0.54 = 66,355
2 mpghy 420-03 | 14,000,000 x1.54= 21,000
vl) B2 420-03 [292,0009 X 60m= 17,520
v x4 420—03 ]93,000¢ X 200m'= 18,600
AP dAELE 420-03 |1,660,0009 X 20m= 33,200
3) 7+ n) 420—04 |482,880,0009 x1.439%= 6,950
4) A HF-thn] 420—05 |482,880,0009 X 0.72%= 3,476
2. 3AFFHAHD 795,613 0 795,613
7h WA EH AT S 795,613
1) AAn] 620—11 |731,140,0009 x 4.2850%= 31,690
2) A17dn] 731,140
7hH EHuAEE 620—11 |1,827,000¥ x 300m'= 548,100
W) A== 620—11 |1,229,0009 X 35m'= 43,015
oh) A== 620—11 |2,637,0009 x35m'= 92,295
2 FERE7} 620-11 129,000 X370m'= 47,730
3) TFFQHE ) 620—11 |23,000,000¢ x 14 = 23,000
4) z¥+eln] 620—11 |731,140,0009 X 1.338%= 9,783
0537 7N 8,650,284 6,460,907 2,189,377
St A S8 A 8,650,284 6,460,907 2,189,377
1. ZAFg A 1,399,189 1,578,956 A179,767
7}, vked 357,803
1) A A 420-02 |1,255,896,0009 X 2.8861%= 36,247
2) A]Adn] 314,510
7H HAax 420-03 11,830,000 x 54 = 59,150
W 1z 420-03 115,960,0009 x 441 = 63,840
o) YAz 420-03 |15,960,0009 X 64 = 95,760
2} Hol% 420-03 |15,960,0009 x 64 = 95,760
3) A|AE ] 420-05 |1,255,896,0009 X0.561%= 7,046
L, v 242,580
1) A1AH] 242,580
7 bz 420-03 19,330,000 x 144 = 130,620
) WAk 420-03 19,330,0009 x 221 = 18,660
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H4)
Abgiu <} A5 AEU S 20194 (A) | 20184 (B) (A-B)

) Ay 420-03 ]9,330,0009 x 104 = 93,300
=S A 60,760

1) A1AH] 60,760
7h -tz 420-03 |2,170,0009 x 841 = 17.360
W Exx 420-03 |2,170,000¢) x 204 = 43,400
gt ZS]0 48,580
1) A4 48,580
7h F-kx 420-03 3,470,000 x 84 = 27,760
W) Xz 420-03 |3,470,0009 X 641 = 20,820
o}, QK 428,256
1) A9 428,256
7hH ZAEx 420—03 13,383,000 x 324 = 428,256
] s 126,060
1) A1AH] 126,060
71 WAk (W) 420-03 [1,910,0009 x 254 = 47,750
) Fekar (W) 420-03 |1,910,0009 x414= 78,310
AL A g 19,130
1) A1AH] 19,130
7H $49x 420-03 [19,130,0009 x 1= 19,130
o}, A 16,020
1) A1AH] 16,020
7 Fkx 420-03 15,340,0009 x 34 = 16,020
b, U= A (K] 2FA) 100,000
DI = 420-03 |200,0009 X 500m'= 100,000

2.9 - A AN 1,297,058 734,021 563,037

7h - A A A 1,297,058
1) AAn] 420-02 |1,253,665,0009 X 2.8866%= 36,189
2) A]7dn] 1,253,665
7h WAkx 420-03 |7,310,0009 x 341 = 21,930
) Febdx 420-03 |7,310,0009 x 174 = 124,270
o) Fbx 420-03 7,310,000 X 70.54 = 515,355
) X% 420-03 |7,310,0009 x 214 = 153,510

WE — S A7)

Al = PN AAE - A WS FE AN
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71389 Ae R ERtnSA 9 (el - dd
74 o) 1=
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)

u}) F-Qk 420-03 |7,310,0009 x 454 = 328,950

uh) FakE 420-03 |7,310,000€ x 124 = 87,720

AD) Hekar 420-03 7,310,000 x 34 = 21,930

3) ARt 420-05 |1,253,665,0009 x0.562%= 7,204

3. Al QEAMNA 2,022,111 1,849,445 172,666

7F W15 7t 231,000
1) WA x (E3%F) 420-01 |28,000,000¢ x 14 = 28,000
2) M (HF) 420-01 28,000,0009 x 14] = 28,000
3) Febdx(E3%) 420-01 |28,000,000¢ x 14 = 28,000
4) Folsx(E4%F) 420-01 |33,000,0009 x 14 = 33,000
5 e (F#HF) 420-01 |30,000,0009 x 14 = 30,000
6) AAZ(EAE) 420-01 |28,000,000¢1 X 14 = 28,000
7) AN Z (DS 420-01 |28,000,0009 x 14 = 28,000
8) FAR(ZFHF) 420-01 28,000,0009 x 14] = 28,000
L. Seholn E 1,162,929
1) A AW 420-02 [1,124,172,0009 X 2.8865%= 32,450
2) AlAdH] 1,124,172
7h F-obx (E3%) 420-01 |13,383,0009 x 374 = 495,171

W) H<eka (744D 420-01 |13,383,000¢ x 472 = 629,001

3) Al HF-tn] 420-05 [1,124,172,0009 X0.561%= 6,307
o 4047 8615
1) X2 EFHS) 420-01 [4,0009 x856m'= 3,423
2) EXzxAAgd) 420—01 |4,000€ x399m'= 1,596
3) st (F %) 420—01 |4,0009 X 899m'= 3,596
2t A (M) w A 439,377
1) A A 420-02 |421,440,0009 X 3.5359%= 14,902
2) A|Adn] 421,440
7H ek E (HA4S) 420-03 |14,640,0009 x 104 = 146,400

) Fekx (HAS) 420-03 |14,640,0009 x 24 = 29,280

) FAE 420-03 |11,040,0009 x 94 = 99,360

) FAE (A=) 420-03 |14,640,0009 x 104 = 146,400

3) Al E)H] 420—05 |421,440,000¢ X0.72%= 3,035

A - BEBANAAL - FaA LB AA
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B8 AEZ =Y A
713 - AEE Rk S 9 (el - dd
74 o) 1=
gopzg 22| B3| 2% Aol %A% Az 20196 (A) | 2018 (B) | S7HA-B)

np AXHEE 180,190
1) A A 420-02 |169,050,0009 X5.7969%= 9,800
2) AN 169,050
7h A A[-X9(302m) 420-03 |169,050,0009 x 12]= 169,050
3) Al F-thn] 420-05 |169,050,0009 X 0.78%= 1,340

4. Y F-FAAFNA 927,440 361,939 565,501
A=y 269,687
1) AAn] 420-02 [890,070,0009 X 3.0555%= 27,197
2) Al/dn] 242,490
7hH Axx 420-03 |354,0009 X 55m= 19,470
W) Fax 420-03 |354,0009 X 250m= 88,500
o) WAkx 420-03 |354,0009 X 330m= 116,820
) Az 420-03 |354,0009 X 50m= 17,700
. w2 97,820
1) Al4dn] 97,820
b Axx 420-03 |292,000¢ X 150m= 43,800
1}) Ak 420-03 292,000 X 75m= 21,900
ohH WAz 420-03 |292,0009 X 40m= 11,680
2h) A&z 420-03 |292,0009] X 70m= 20,440
ok % 559,933
1) A4 555,600
7h WAk 420-03 |242,0009) X 700m'= 169,400
W AEx 420-03 |58,000¢ X 400 = 23,200
oh) FAE 420-03 |242,0009) X 800m'= 193,600
2 M3 420-03 |242,0009 X 700m'= 169,400
2) Al E 4] 420-03 [890,070,0009 X 0.650%= 4,333

5. A7 A2 NA 760,607 754,126 6,481
7}, =" Al (LED) 612,166
1) AAH] 420-02 |588,280,0009 X 3.3561%= 19,744
2) AlAdn] 588,280
7h Febdx 420-03 |3,820,00091 x 182 = 68,760
) Forx 420-03 |3,820,0009 X704 = 267,400

A - BEBANAAL - FaA LB AA
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713 AR et A4 9% (2]« 79
74 o) 1=
woipy B3| T3 | 0T Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
o) F-eks 420-03 3,820,000 X504 = 191,000
2} FakE 420-03 |3,820,0009 X 164 = 61,120
3) Al -t 420-05 |588,280,0009 X0.704%= 4,142
U s AaAd 148,441
1) A A 420—-02 |138,160,0009 X 4.6628%= 6,443
2) 7 42004 |138,160,0009 X 1.946%= 2,689
3) Al4dn] 138,160
7)) Rk 420-03 |138,160,0009 X 14 = 138,160
4) A/ -t 8] 420-05 |138,160,000¢ X0.831%= 1,149
6. AL AANET]EZ 1,175 0 1,175
7} 2B A g A 1,175
1) WAz 620-04 1,175,0009 x14]= 1,175
7. AN 672,853 692,476 A19,623
7t sl 672,853
1) A A 420-02 |647,025,0009 x 3.2976%= 21,337
2) Al/dn] 647,025
7H Astx 420-03 [86,270,0009 x 221 = 172,540
) WAakx 420—-03 |86,270,0009 x 14 = 86,270
th A HEa 420-03 [86,270,0009 x 4.54 = 388,215
3) Al -t 420—-05 |647,025,0009 X0.694%= 4,491
8. WA SA (A1) 210,200 467,900 A257,700
7h Q) F-Z S A 210,200
1) A1AH] 210,200
7h F-eto] (o] 620—11 |21,020,0009 X104 = 210,200
9. 9 - IA AN (A 219,300 0 219,300
7h 9 A A A 219,300
1) WAz 620—11 |7,310,0009 x 52 = 36,550
2) A F 620—11 7,310,0009 x 94l = 65,790
3) F-tF 620—11 |7,310,000€1 x 164 = 116,960
10. AJ A A (AHR) 904,395 2,044 902,351
7F WX sH 7t 60,000
1) Ftod 620—11 |30,000,000¢ x 14] = 30,000

FolNEFERS - Fuwg o)

AAAE - &8RN AN E - A E S A
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7|8 AEZ5 UG A
713 AR et A4 9% (2]« 79
74 o) 1=
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
2) AhaE 620—11 |30,000,0009 X 14]= 30,000
v JA (A EA 612,480
1) Wakz 620-11 |11,040,00091 x 104 = 110,400
2) WAL= (HANE) 620—11 |14,640,0009 X 74 = 102,480
3) WAk 620—11 |11,040,0009 x 14 = 11,040
4) WAA T (HE3) 620—11 |14,640,0009 x72= 102,480
5) F-tolE 620-11 |11,040,0009 x 104 = 110,400
6) Tt F (FH4S) 620—11 |14,640,0009 x 124 = 175,680
o AX Y EY 231,915
1) H<key%(1,186m) 620—11 |231,915,0009 x 14 = 231,915
11. F-SF M (AHR) 52,596 0 52,596
VAR ot 11,096
D Ahds 620-11 |292,0004 X 38m= 11,096
U Ad5E 41,500
D Ahds 620-11 |1,660,0009 X 25m= 41,500
12. A7 A A AA (AF=D) 183,360 0 183,360
7} 2 A1 (LED) 183,360
1) WAtz 620—11 |3,820,0009 X 164 = 61,120
2) WAk ZF 620—11 |3,820,0009 x 124 = 45,840
3) etz 620—11 |3,820,000¢) x 204 = 76,400
SRk 2,510,214 1,467,350 1,042,864
kA= eI ] 1,770,375 1,090,037 680,338
IERF A7 3 7,100 6,140 960
ISR A7) A 3,700 2,800 900
1. FeFFAITHF2 3,700 2,800 900
7V F oA FA LT 210-01 |6,000€ X 200%-x 13] = 1,200
L BotwSdr s 2,500
1) A=A = 210-01 |10,0009 x 2255 x 13]= 2,250
2) AHEE 210-01 |1,0009 X 10% x 18] = 10
3) YALLE 210-01 |12,0009 X 20% x 18] = 240
P R R ) 3,400 3,340 60
1. 5 YA A A &2 2,180 2,120 60
WE - AH5YY - w5 gAdn - P Ay - Y ugdgaey
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4% (ko] - <)
AT PRSI CEpE AENE 2019\ (A) | 20184 (B) | E7H(A-B)
A]'(ﬁ =] =] =] = = “ gl [Fl =

TS EEEETEEEE 2,180

1) ZFA5G 210-06 80,0009 x 8% x 28] = 1,280

2) oH] 210-06 |10,000¢) x 87 x 23] = 160

3) A1) 310-01 |8,000€ x 107 x 48] = 320

4) PALLE 210-01 |30,000¢) x 4% x13]= 120

5) 9] 3 230-02 |15,00091 X 107 x 23]= 300
2. 18X 93 SR Y 1,220 1,220 0

b & YA 7 1,220

1) A=Az 210-01 |10,0009¢ x 35% x 13]= 350

2) BAHEF 210-01 |20,0009 x 63 x 13] = 120

3) 93] 230-02 |15,00091 %109 x53]= 750
A5HZETHE 7,380 6,500 880
AEHAZH 7,380 6,500 880
1. X3 R P EL7 7,380 6,500 880

7}, H-Qb iS22 A kg 7,380

1) A=A2 210-01 |4,0009 x 700%- % 23] = 5,600

2) HESTS 210-06 40,0009 x 3 x 63] = 720

3) eWoT 210-02 7009 X 5004 x 28] = 700

4) ¥ ¢3] 230-02 |15,00091 X6 x 45 = 360
3,296 3,431 2135
A 3,296 3,431 A135
1. R 22} 660 795 A135

7}, A =) 250—04 |5,0009 X3 x443]= 660
2. FoibA A F o] 4 78 2,636 2,636 0

7t s sobe w9 500

1) A=Az 210-01 |4,0009 X 125% < 13]= 500

o Ag g 2,136

1) e A= 21001 |10,00091 X 60 x 13]= 600

2) 7R (L) 1,000

7hH 71E 210—06 |160,000¢1 x 17 x43]= 640

Wz 210-06 |90,000¢1 X 11 x 4] 3k= 360

3) 418 210-01 |14,000¢ x 3] x 8] k= 336

PP LwE — ghAke] - FRAk
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71 AEZEY A
713y AgE e Rt S Y (k] - xd9)
2 o) 1=
Bop By 2;'" ?};3 fg RN CRpE RS 20199 (A) | 20189 (B) | Z7(A-B)
4) BAHE-F 210-01 |10,0009] X 5% x 43] = 200
71897}t 2,060 2,000 60
71 %97} 2,060 2,000 60
1. 5P F71FF 7ML ALH 2,060 2,000 60
7h wSA 4 F 7t 2,060
1) ARAE 71 A & M 2 540 2 500
7H A=A =+ 210-01 |5,00098 x50% x 28] = 500
2) AHAF7Ee A3 9 1,560
7}) A 2=tk 210-06 80,0009 x4 x 28] = 640
) 9] 913 2 A 210-06 |20,0009 x 47 x 23] = 160
th) 2] 210-04 18,0009 %10 x 23] = 160
) $3e=x 210-01 |50,0009 X 6% x 23] = 600
TSFRHA 6,400 16,600 A10,200
PANATEX Y 6,400 16,600 210,200
1. 2S8R 92733 6,400 16,600 A10,200
7F =] 210-01 |20,0009 x507) x 18] = 1,000
. N 5,400
1) ZAFE (EA) 430-01 |900,000¢ x 6= 5,400
7S AA 3} 7,626 8,237 A611
AESPAABA AL G 7,626 8,237 A611
IR Ea= R IR 6,966 7,577 AB11
7F AR w82 4,174
1) AAEEHPCF 210-15 |50,0009 X 10E X 53] = 2,500
2) TEPCASISWY 18 o= 440-01 |46,5009 x 36t)= 1,674
. AARAl 8o 2,792
1) H/WHA HF 210-09 19,705,000 X 8%= 1,577
2) UPSHE &) w4 210-09 |1,215,0009 x 14]= 1,215
2. FH A FA B 660 660 0
7}, EHo] x| E el gl Aqn] A 210-01 |55,0009x12¢= 660
&P YRR LI S E A 280 0 280
BEPRP 7N EERE 280 0 280
1. 712 EREEBES 280 0 280
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SRt A A R (9] d
e Arguel o= RESE 20196 (A) | 2018 (B) | Z7HA-B)
| A B o - - - o
7h 715 =4 714 4] 3] 280
1) &A%t} 210-06 |80,000¢l x 2% x 15]= 160
2) 393 230-02 |15,0009 x 8% x 18] = 120
H G tiu] Al g L 2 2t 980 980 0
H] G o] Al W B kg 980 980 0
L. B3 diu] Al S 9 B et e 200 200 0
7h Al _rd gk = 200
1) YAE-F 210-01 |50,0009 x4 x 18] = 200
LX) AL 780 780 0
7}, -2 ) 210-04 |3,000€ x40 x 48] = 480
L}, AR E 210-01 |50,000¥ % 6% x18]= 300
AT 1,290 1,290 0
oA e 1,290 1,290 0
1. AEI AT =R 1,290 1,290 0
7). A=A = 210-01 |14,0009 X 60%-= 840
U}, &9 3] 230—-02 |15,0009 x 10 x 33| = 450
A 52 144,740 33,963 110,777
ZHANLEZ A7 144,740 33,963 110,777
1. = - Z8ARE 9,720 9,720 0
7V ARG VA ST 210-01 [800,0009 x 103 = 8,000
e PN K EAS 210-06 80,0009 X 47 x 23] = 640
t}. & 9] 3 230-02 |15,0009 x 127 x 23] = 360
2t A5 250-04 60,0009 x 1% x 129 = 720
2. H A BT 90,062 4,500 85,562
7}, 9 o] 210—09 [450,0009 x153]= 6,750
1} ﬁgﬂ ul 4 7] 4o 420-01 |4,0009 x 9,058 m'= 36,232
o =T A EHA 420-03 47,080,000 x 18] = 47,080
3. 32947 25,728 0 25,728
4 R A 210-01 |5,000,0009 = 5,000
U x58w 620-03 |15,728,0009= 15,728
o}, =8y 620-03 |5,000,000¢ = 5,000
4. LAV AGF A 5] 8 19,230 19,743 A513
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719 - A E Rk 4] 9% (he] - 24l
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 20196 (A) | 2018 (B) | S7HA-B)
7} AV AGE A 3] 1) 210-02 |19,230,0009= 19,230
Al X] A) 2 1,460,034 883,178 576,856
Sl =] A D B 1,460,034 883,178 576,856
1. B AX Y 1,403,979 780,180 623,799
7} B A A TS 1,000
D) 7 (R 500
7 718 210-06 100,000 x 27 x 23] = 400
W) =3 210-06 |50,0009 x 2 x 1 A]7k= 100
2) 9= 210-01 |25,0009 X 10% x 28] = 500
U, S A9 199,602
1) &x4d @) 620—-03 |14,088,0009= 14,088
2) 258w (21d) 620-03 |185,514,0009= 185,514
o} Bt A A 650,000
1) =3 (34¢1% 430-01 |115,000,0009 x3d)= 345,000
2) 3 (45902 430-01 |135,000,0009 X 1th= 135,000
3) ol FH AU (4520%) 430-01 |170,000,000¢ x 1t]= 170,000
g}, AW A 2FE (4T) 210-07 |213,391,0009= 213,391
v}, ok ] T AFOl A ) 620—-01 [14,782,0009 x 234 = 339,986
2. Y ESAY 56,055 102,998 246,943
7}, &F<4n) 310-01 |180,0009¢ x 3% x10¥= 5,400
. @A 2 Y (51) 620-03 50,655,000 = 50,655
SH gl =) 5 83 o] 8 13,840 5,834 8,006
stE ol =u) 52 o] 3 13,840 5,834 8,006
1. 872993 A7 2,834 2,834 0
7}, Stm Lo o] ol 2,834
1) A=A = 210-01 |9,0009 X 60%-x 13] = 540
2) AT (LD 300
71 7= 210-06 |100,00091 x 278 x 18] = 200
) 2z 210-06 [50,0009 x 2 x 1 A]7k= 100
3) Y= 210-01 |14,0009 x 3v] x 4] 7k= 168
4) 28] 310-01 |8,0009 %607 x 18] = 480
5) ZF2n) 310-01 |3,00091 X607 x13]= 180
P& - AFUN - wEPF YN - FRRUEv gy — R Ru ey u S Foj g
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dEE R ESENER
71387 MY E S XA (9] - )
gopzg 22| B3| 2% Agvle %5 ek 20199(A) | 20184(B) | Z7HA-B)
6) WALE= 210-01 |28,3009 x 20% x 18] = 566
7) 23 230-02 |15,0009 x40 x 18] = 600
2. -3 u g EA sHA A 11,006 3,000 8,006
7h. SRR Aol x Y 11,006
D A (5HE) 4,900
74 7] 210-06 |200,0009 x 17 x 143]= 2,800
W) %3} 210-06 | 150,000 x 17 x 14] 7= 2,100
2) ZFAFAn] An) 210—06 70,0009 X1 x143]= 980
3) dug 210-01 | 14,0009 X 3v] X 28] 7}= 1,176
4) A8 210-01 |50,0009 X 4% x 63] = 1,200
5) WALEF 210-01 |50,0009 ¥ 5% x 83 = 2,000
6) & 23 230-02 15,0009 x 257 x 23] = 750
Al AL Ee 115,349 121,884 16,535
Al dAM B2 115,349 121,884 £6,535
1. N A =2 A 9 115,349 121,884 16,535
7h S Al A e 98,744
1) 254 210-09 |83,213,000¢= 83,213
2) WA oe g 210-13 |14,824,0009= 14,824
3) Al A E ] 420-05 |707,00091= 707
L 7S g e n Al f A E e 7,296
1) Hobw 210-13 |608,0009 x 129 = 7,296
|2 TR 9,309
R ES 620-04 |9,309,00091= 9,309
AETEX R 739,839 377,313 362,526
71 28931 365,740 367,113 A1,373
TSALH LA 365,740 367,113 21,373
1. 712 g F-321) 27,920 27,840 80
7h 713872 Q7] 27,920
1) 7 #FA A G 3E70) 250-02 |400,0009 x 129 = 4,800
2) 71} T 230-01 |21,000,000¢= 21,000
3) LAY FF=201] 230-01 [40,0009 X539 = 2,120
2. 71 B9 An) 175,064 182,130 A7,066
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718 AE4E WA
Abd ] < A5 AEUS 2019€(A) | 2018€(B)

7h T 8w WAA 55,138
1) ZEda 210-01 |150,000¢ x 43] = 600
2) A7QF 210-02 |2,550,0009 x 129= 30,600
3) A3e= 210-02 |1,100,0009 x129= 13,200
4) C1EJYIZ AN 210-02 |400,0009 x12€= 4,800
5 At 210-02 |180,0009 %129 = 2,160
6) SAQF 210-02 |50,0009 x 129 = 600
7) NABANA RS 210-02 |178,00091 % 13]= 178
8) TAFTEH] 210-02 |250,0009 x12€= 3,000
L AR 66,058
1) AAeA RS 210-09 |2,500,0009 x 129= 30,000
2) PAIGA RS 210-09 |200,0009 x 352 = 7,000
3) AL AMNA 210-09 |200,0009 x 1521 = 3,000
4) v el 7] 3 g g-od 210-13 |2,500,000¢ x 28] = 5,000
5) FAH1n] 21,058
b 7185 110-04 |1,303,0009 x 12¥ = 15,636
W) F24) 110-04 [130,0009 x 129 = 1,560
th) A& 110-04 |500,000¢ x 23]= 1,000
2} &= )] 240-02 |400,0009 x 14 = 400
b gHAZ 320-12 |1,516,0009 x 19 = 1,516
v AR RS 320-12 |18,196,0009 % 3.23%= 588
AP w9177 @ okH 3 320-12 |588,0009 X 7.38%= 44
o)) 1413 320-12 |18,196,0009 X 0.85%= 155
ZF) AFA] 13 320-12 |18,196,000¢ X 0.873%= 159
AR A B 11,280
1) A7) 210-09 |440,0009 x12€= 5,280
2) vl B 210-09 |30,000€ x 40th = 1,200
3) AHIA| A SR K 210-13 |160,0009 x12¥= 1,920
4) A7)t #2] o) 38 210-13 [120,0009x12¢¥= 1,440
5) 77 FA BT 210-13 [120,0009 x12¥= 1,440
o}, A e 15,424
1) A5 210-06 |50,0009 x 260 = 13,000
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7188 A& 2 A
AR s B Rt ety S) ks S R (k9] - d4d
2 o 1=]
gopzg 22| B3| 2% NERE = RESE 2019¥(A) | 20189(B) | Z4(A-B)
2) FolAn & 210-13 |202,0009 x12¢= 2,424
vl B2 15,345
1) 3854 (25,000kme]4) 210-10 9,135,000 x1dj= 9,135
2) 2823F(10,000kmm] 7H) 210—10 [6,210,0009 x 1t]= 6,210
vl A< 800
1) Fx &%= 210-04 |8,0009 x50 x 23] = 800
Ab. AN 7 1) 4,220
1) Y ET= 210-01 |15,0009 X 19 x 129 = 3,420
2) 3 En) 210-03 |200,0009 x 47 = 800
of. AR-E7 7] A 6,799
1) 2UE 430-01 |250,0009 x 4t = 1,000
2) JTgox} 430-01 |300,000€ x 10t)= 3,000
3) MEH 430-01 |150,00091 x 10t)= 1,500
4) WA 430-01 |800,0009 x 1tj= 800
5) A7) 430-01 |249,500¢ x 20| = 499
3. 7|EkA | A 99 31,672 30,215 1,457
7}, A sEoked gg-o 31,672
D FExeadAA 15,608
b A7 QF 210-02 |700,0009 x12¥= 8,400
) Ao+ 210-02 50,0009 x 129 = 600
th AstEE Qe 210-02 |100,0009 x12¢= 1,200
eh) AR 210-02 80,0009 x 15| = 80
op) AR E 210-02 |15,0009 X 10t x 129 = 1,800
vl A7 A R ASSE 210-13 |90,0009 x 129 = 1,080
AP 2 u]g@@¢¢g 210-13 88,0009 x 129 = 1,056
o}) AL GA RS 210-15 |116,0009 x12€= 1,392
2) Aqio]:og 62 B 210-09 |424,0009x12¢= 5,080
3) 1:1-;034.,1] 9,160
7h &AL 210-06 (50,0009 x 1402 = 7,000
) FolAuneo 210-13 |180,0009 x12€= 2,160
4) A gn 210-08 |9059 x8A17kx 90 x 2t) = 1,304
5) o] 220-01 |20,0009 x 1% x 263] = 520
WS - WFYEE - 7 HEG A - 7SS9 - uS5H A
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7188 AE4E WA
713 AR et A4 9% (2]« 79
2 [e) 1=}
gopzg 22| B3| 2% Aol %A REXE 2019 (A) | 20188 (B) | F7HA-B)
4, B-A 7| B2 AN 131,084 126,928 4,156
7} 2S5 AL 58,484
1) YRE<n] 7,024
7H A 210-01 |1,200,000¢9= 1,200
) el 210-01 [416,0009 x147= 5,824
2) EZu 2] 210-05 18,0009 x 147 x403]= 4,480
3) ojn] 39,180
7hH & 220—-01 |20,0009 X 159 X 573]= 17,130
) T 220-01 |40,000€ X 15 x 283]= 16,800
th T9 220-01 |70,0009 X 159 x 53] = 5,250
4) Fr] Lo Z=71n] 230—-01 |350,00091 x 129 = 4,200
5) 2 AMF A Z=A1) 250—-02 |100,0009 x 129 = 1,200
6) 545730 2,400
7 BARE (S B e T4 250-03 60,0009 x 17 x 124 = 720
W und(SERE ) Hddd | 250-03 80,0009 x 1 x 129 = 960
) Surd (RSP RE)HTIFd | 250-03 60,0009 x 18 x 1249 = 720
R RRE 72,600
1) dukeau) 12,016
7H A 210—-01 |1,200,0009= 1,200
) el 210-01 [416,0009 %267 = 10,816
2) Euf2ln] 210-05 18,0009 %189 x 3194 = 4,464
3) ofH] 40,040
7hH & 220—-01 |20,000€ X267 x 273]= 14,040
) =4 220—-01 |40,000€ X267 X 183]= 18,720
th T9 220—-01 |70,000¢) X 26 x 43] = 7,280
4) F-r] Qo)) Z=71n] 230—-01 |350,00091 x 129 = 4,200
5) 21 AF R Z=A11) 250—-02 |100,0009 x 129 = 1,200
6) 574 d573m] 10,680
7 At G ST 250—-03 |80,0009) X2 x 129 = 1,920
) st A g 250—03 |100,0009 %1% x12¥= 1,200
th) dAardd2E 250—-03 |150,0009 X3 x129= 5,400
) IAEEGFFL 250—03 60,0009 x374 x12¥= 2,160
W - WA - V)RR - VR edy] - wgH 4G e
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18 AlEdE UG A
7187 - A et a S A 9 (29 - A
2 [e) 1=}
gopzg 22| B3| 2% Aol %A REXE 2019 (A) | 20188 (B) | F7HA-B)
TG A7) BA A 374,099 10,200 363,899
A LA AL R 374,099 10,200 363,899
1. L& QYA A 374,099 10,200 363,899
7}, BAFS-A B 210-09 300,000 x 344t} = 10,200
u A o A E AN 363,899
1) A2 A 420-02 |348,689,0009 % 3.6210%= 12,628
2) A4 348,689
7H AA(AE) " A 420-03 |14,640,0009 x 9= 131,760
W) 27 (LED) Al A 420-03 |3,820,0009 x 84 = 30,560
oh) Abupse 420-03 |9,330,0009 X 8,541 = 79,305
Zh) 9jE R 420-03 |13,383,0009 x84 = 107,064
3) A= n 420-05 |348,689,0009 X 0.72%= 2,582
W - SN - 7| HG Y - APV HAA - B SA LG B

40




